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If a:b=2:3 and b:c=4:5, find a®> : b* : bc =?

Answer option

(b)

a)4:9:45 b) 16 : 36 : | c) 16:36:20 | d)4:36:40

45

16 :36:45

Find the number of angles in the following figure

A
Answer option
(d)
40°
20°
30° >
a)3 b)S c)4 d) 6 6

The total age of three kids in a family is 27 years. What will
be the total of their ages after three years?

Answer option

a) 36 b) 39 c) 38 d) 35

(a)
36

Select the alternative which represents three out of the five
alternative figures which when fitted into each other would
form a complete square.

VIR

Answer option

(d)

a) 123 b) 234 ¢) 134 d) 345

345

What is the name of the joint exercise conducted by the Indian

Answer option

Army and the Indian Air Force in Punjab in May 2024? (c)
a) Vajra Shakti | b)  Gagan | ¢) Gagan | d) Vajra Gagan Strike
Shakti Strike Prahaar

Select the correct indirect form of the given sentence.
Priya said, “Yes, I am confounded.”

1. Priya admitted that she was confound Answer option
2. Priya admit that she was confounded ) p

3. Priya admitted that she was confounded

4. More than one of the above

S. None of the above

a)5 b) 2 c)4 d)3 3
Neither you nor your sister should to them.

1. talk :

5 talks Answer option
3. talked ®)

4, talking




a)2 b)1 c)3 d)4 1
8 | What is the most appropriate antonym of the given word? Answer option
EXPEDITE (b)
a) Accelerate b) Delay ¢) Speed up d) Dispatch Delay
9 | What is the most appropriate synonym of the given word? .
ANOMALIES Answiz)optlon
a) Evenness b) c) Peculiarity | d) Harmony Peculiarity
Uniformity
10 | Direction: Choose the most suitable determiner for the given
sentence: Answer option
----------- university is a place for politics. (a)
a) No b) Some c) Few d) None of No
the above
11 | For which disease did Edward Jenner, known as the father of .
. ) Answer option
immunology, develop a vaccine? (a)
a)Smallpox b)Chickenp | c)Measles d)Cholera Smallpox
0X
12 | Which of the following song has won the “Best original song” .
Answer option
award at Oscar 2023? d)
a)NaachoNaac b) Yara Teri c)Neendraan d)NaatuNaa NaatuNaatu
ho . .| N1 tu
Meri Yaari .
Anandiyaan
13 | Which of the following immunity is present from our birth? Answer option
(a)
a)lnnate b)Active c)Passive d)Acquired .
. . . . . . . Innate Immunity
Immunity immunity immunity immunity
14 | Match the following:
A. Anil Kumar Prakash | 1. First recipient of Rajiv
Gandhi Khel Ratna Award A ’
B. RE Grant Grovan 2. National record in 100m nswzg)op ton
sprint
C. Viswanathan Anand | 3. First sportsperson nominated
for Rajya Sabha membership
D. Sachin Tendulkar 4. First President of BCCI
a)A-2,B -1, b)A-2,B- | ¢)A-1,B-3, | d)A-2,B-
C-3, D-4 4,C-1,D-3 C2,D-4 | 4,C3,p-1 |AHB4ACLDS
15 | Match the following:
A. Glacier 1. Sea shore Answer option
B. Meanders 2. Deserts (a)
C. Beach 3. River of ice
D. Sand dunes 4. Rivers
a)A-3,B-4,C- | b)A-4,B-3, | c)A-3,B-1, | d)A-4,B-2,
1,D-2 C-2,D-1 C-4,D-2 C-1,D-3 A-3,B-4,C-1,D2
16 | Which of the following is not a lymphoid tissue? Answer option

3




©

a)) Spleen b)Tonsils c)Pancreas d)Thymus Pancreas
17 | Assertion (A): Planning is the foremost function in sports .
i . . . . Answer option
Reason (R): Planning gives a view of future course of action (@)
a)Both (A) and | b)Both (A) |[c)(A)istrue | d)(A)is
(R) are true and (R) are | and (R) is false and Both (A) and (R) are
and (R) is the | true but (R) | false. (R) is true. true and (R) is the
correct is not the correct explanation of
explanation of | correct (A)
(A). explanation
of (A).
18 | Match the pairs:
A. Subrahmanyam Committee Report | 1. 2001 Answer option
B. Kargil Review Committee Report 2. 1979 (b) P
C. Group of Ministers (GoM) Report 3.2007
on National Security
D. Draft National Security Strategy 4. 2000
a)A-4,B-1,C- | b)A-2,B-4, | c)A-3,B-1, |d)A-1, B-4, A-2, B-4, C-1,D-3
3,D-2 C-1,D-3 C-2,D-4 C-3,D-2
19 | Which of the following genetically modified (GM) crop/crops Answer option
is/are legally allowed to be cultivated in India? (a)
I.  GM Mustard
[1. Bt Cotton
I11. Bt Brinjal
a) Il only b) IIand III | ¢) [ and III d) I, I and
only only 111
20 | Where was the 7th edition of Japan-India Maritime Exercise Answer option
2023 (JIMEX 23) held? (a)
a) b) Chennai | c¢) Kochi d) Mumbai | Visakhapatnam
Visakhapatnam
21 | Published information in a particular subject area is discussed Answer option
in? (c)
a) Journals b) Research | ¢) therature d)All of Literature review
proposal review them
22 | What is the purpose of a literature review in research? Answer option
(a)
a)To identify b)To c)To collect | d)(To
the research summarize | primary data | analyze data To identify the
gaps research research gaps
findings
23 | Which of the following are associated with behavioral .
observation? Answer option
(d)
a)Non-vgrbal b)L1ngu1§t1c c) spat}al d)All of All of these
analysis analysis analysis these
24 | Uniting various qualitative methods with quantitative Answer option

methods can be called as........

(b)




a)Coalesce ‘itgl"friangulat c)Bipartite | d)Impassive Triangulation
25 | Which of the following is non-probability sampling? Answer option
(a)
a) Snowball | b) Random | c) Clustered | d) Stratified Snowball
26 | Multistage sampling is a Answer
Option
(a)
a) Probability b) Non- c) None of | d) All of the
sampling Probability the above above Probability sampling
sampling
27 | Which of the following statements is true about the source of Answer
data? option
(a)
1. The source of data that is collected and compiled by
others is known as secondary data
2. The source of data that is collected and compiled by
others is known as tertiary data
3. The source of data that is collected and compiled by
others is known as primary data
4. None of the above
a) 1 b) 2 C) 3 d) 4 1
28 | Bibliography given in a research report Answer option
(a)
1. Helps those interested in further research and studying
the problem from another angle
2. Shows the vast knowledge of the researcher
3. Makes the report authentic
4, D None of the above
a) 1 b) 2 c) 3 d) 4 1
29 | Which of the following is true regarding research objective? Answer option
(c)
a)  Research | b) Research | c) Research d) Research | Research objectives
objectives, objectives, | objectives objectives when achieved,
when achieved, | when when are seldom provide the
will  provide | obtained, achieved, achieved information necessary
sufficient will ensure | provide the but should | to solve the problem
earnings to | the viability | information be stated as
obtain a | of the necessary to goals to be
reasonable marketing solve the sought
return on | research problem
investment department
30 | Wrong questionnaire is an example of Answer option




(@)

a) Primary data | b) c) Both Aand | d) None of | Primary data
collection Secondary B the above | collection problem
problem data
collection
problem
31 Answer option
(a)
What is the mean of the following numbers: 23, 45, 87, 40,
50?
a) 49 b) 34 C) 56 d) Non 49
e of the
above
32 | Which of the following diagrams is used to find the value of Answer option
mode graphically? (c)
a) Pie chart b) Bar c¢) Histogram | d) None of | Histogram
graph the above
33 | IfAM of a, a+3, a+6, a+9 and a+12 is 10, then a is equal to; Answer option
(d)
a) | [ b)2 [0)3 | d) 4 4
34 | The class interval of a given observation is 10 to 15, then the Answer option
class mark for this interval will be: (b)
a) 115  [b) 12.5 | ¢) 12 |d 14 12.5
35 | What is the skewness of a normal distributions? Answer option (a)
a) 0 | b) 1 o -1 |d) 2 0
36 | What is the formula for measuring skewness in a dataset? Answer option
(c)
a) Mean- b) Mode- | ¢) 3(Mean- | d) (Mean- (3(Mean-
Median Median Median/Stan | Mode)/Stan | Median/Standard
dard dard Deviation
Deviation Deviation
37 | What are some of the frequent frustrations in writing or Answer option
reading about research ethics? (d)
1. Writers differ over what is ethically acceptable.
2. The same debates are rehearsed over decades.
3. Cases of ethical violation tend to be linked with certain
research methods.
4. d) All of the above.
a) 1 and 2 only | b) only 3 c) 2 and 3 |d)All of the (d)
only above
38 | State whether the following statements are True or False. Answer option
(d)
1. A student caught plagiarizing will fail the course
automatically.




2. If a student admits to plagiarism and accepts the
penalty, the case is cleared up.

a)l istruebut | b)2istrue | c¢)Both1and | d)Bothl
2 is false but 1 is 2 are true and 2 are
false false
39 | Which one among the following statement is true in the Answer option
context of the testing of hypotheses? (b)
1. It is only the alternative hypotheses that can be tested.
2. It is only the null hypotheses that can be tested.
3. Both the alternative and the null hypotheses can be
tested.
4. Both the alternative and the null hypotheses cannot be
tested.
a) 1 b) 2 C) 3 d) 4 2
40 | Plagiarism can be defined as Answer option
1. Representing another person's work--their words (d)
and/or ideas--as your own.
2. Not acknowledging the sources your ideas build
upon.
3. Paraphrasing another's ideas with explicit attribution
to the author.
4, Both 1 and 2
a) 1 b) 2 C) 3 d) 4 4
41 | The mode and mean is given by 7 and 8, respectively. Then Answer option
the median is: ()
a) 1/13 b) 13/3 c)23/3 d) 33 23/3
42 | In which of the following research methodologies, Answer option
manipulation and control of variables and randomization of (d)
sample are two of the basic necessities?
a) Ex-post b) c¢) Case study d) Experimental research
facto research | Descriptive research Experiment
research al research
43 | A formal document that presents the research objectives, the Answer
design of achieving these objectives, and the expected option
outcomes/deliverables of the study is called (b)
a) Research b) Research | c)Research | d) Research | Research proposal
design proposal hypothesis report
44 | What is a research design? Answer option
(d)
a) A way of b) T.he 9) Thﬁ? style d)A A framework for
conducting choice in which you | framework every stage of the
research that is | between present your | for every ystag
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not grounded using research stage of the | collection and analysis
in theory qualitative | findings, e.g. | collection of data
or a graph and analysis
quantitative of data
methods
45 | What is the mode in statistics? Answer option
(c)
a)The average | b)The ¢)The most d)The
value of a middle frequent difference
dataset value of a value in a between the The most frequent
dataset dataset highest and value in a dataset
lowest
values in a
dataset
46 | Consider the following: Answer option
1. Aarogya Setu (d)
2. COWIN
3. DigiLocker
4. DIKSHA
Which of the above are built on top of open-source digital
platforms?
a)land2only | b)2,3and4 |c) 1, 3 and 4 | d)1,2,3 and
only only 4
47 | Which method is most commonly associated with a lack of Answer option
informed consent? ()
a) Qualita | b) In-depth | c¢) Covert d) Covert observation
tive  content | interviewin | observation Structured
analysis g interviewin
g
48 | Fundamental research is otherwise called Answer option
(d)
a) Action | b) Survey c) Pilot study | d) Pure Pure research
research research
49 | Analysis of existing data or records is called Answer option
(a)
a) Archival | b) Scientific c) Filer d)All of
research research research above Archival research
50 | The words, ideas, arguments, and/or overall organization of a Answer option
work are protected intellectual property, (d)
1. Unless the work appears on the Internet.
2. Unless the copyright has run out on the work.
3. Unless it is a work of fiction.
4. But may still be cited according to "fair use"
restrictions.
a) l b) 2 c)3 d) 4
51 | The central assumption of Defence and Strategic Studies is (b)

based on:




a) Planning b). .Use of | ¢c)Man power | d)External Use of military force
process military support
force
52 | Which one of the following is not taken as the instruments of (a)
National Security?
b) Armed | ¢) Diplomatic | d)
a) NGOs | Forces services Intelligence NGOs
services
53 | Security Dilemma of states continues, due to the following
reasons: (b)
a) States wants | b) Military | ¢)  Military | d) States do
freedom powers powers not take Military powers
always becomedefen | steps to use always
appear sive. force. appearoffensive to
offensive to others.
others.
54 | Which one of the following is not an element of National
Power of a modern nation-state? (d)
a) Critical | b) National | ¢) Economic | d)  Social .
Mass Will Capability Movement Social Movement
55 | The origin of contemporary Nation State system could be
traced to: @)
a) The Peace |b) Roman | c) d) Vedic
Treaty of West | Empire Establishmen | Literature The Peace Treaty of
Phalia (1642) t of League of West Phalia (1642)
Nation
56 | In geopolitics which of the following are considered as tool of d)
analysis?
a) Location b) Wealth c) Power d) All of All of these
these
57 | National Security can be insured through: b
a) Promotion | Protection | c)Protection | d)Promotio
of core value and of core values | n of national Protection and
promotion interests promotion of core
of core values and national
values and interests
national
interests
58 | The Concept of Confidence Building Measures was first used ©
during:
a)‘ ' Afghan b)  World ¢)Cold war d)Sri
crisis Lankan Cold war
War-1 .
ethnic crisis
59 Who pfopounded the concept of ‘Geographical Pivot of Halford Mackinder
History’?
a) A.T. Mahan |b) Halford | c) Clausewitz | d) G. (b)
Mackinder Douhet
60 | Which one of the following is not part of Human Security

discourse?

Defence Expenditure




a) Defence | b) Resource | ¢) Freedom | d) Freedom
Expenditure scarcity from want from fear @)
61 | Which one of the following is not a part of the general | Direct purchase of the
procedure for the choice of weapons system by a state-nation? weapons system
a) Direct | b) ¢) Drawing | d) Matching
purchase of the | Ascertainin | detailed of defence
weapons g  market | qualitative strategy and
system availability | requirements | the military @)
of the objectives
system
62 | “Teeth and Tail” ratio in military logistic indicates: ()
a)A ratio A ratio | d) A ratio
between oen b)A  ratio ‘petween men between A ratio between men
and materials in  fighting | men on front | . .
between . in fighting forces and
arsenals and forceg and | line and men in other than
men men in other reserve. fighting forces
than fighting
forces
63 | Which one is not fundamental elements of a state? Resources
a) Government | b) c) Population | d) Territory (b)
Resources
64 | The concept of ‘Deterrence’ is based one of the following (b)
factors:
a) NAM b) Balance | ¢) Cgllective d) Strqtegic Balance of Power
of Power Security Paralysis
65 | Which one of the following is the oldest theory of the state? (d)
a) Theory of |b) C) d) Theory of
Social context | Patriarchal | Evolutionary th@ ' divine Theory of the divine
and theory origin .
Monarchy origin
theory
66 | Which one of the following is not a principle of war? (a)
a) Logistic b) c)Mobility d)Surprise
Concentrati Logistic
on
67 | Who opined that National security is relative freedom of
National Power? @)
a Kenneth | b) Harfold | c) Douhet d) V. Longer
V?]altz N)Iackinder : : ¢ Kenneth Waltz
68 | Neutrality is a condition that can exist only in time of: (b)
a) Harmony b) War c) Defence- | d) War-
: . War
Cooperation | Exercise
69 | Which of the following schemes/initiatives can have a
bearing on addressing insurgencies and development-related
issues in north-eastern India?
1. Kaladan Multi-Modal Transit Project )
2. Regional Connectivity Scheme — UDAN
3. Border Area Development Programme
4. Startup India
Which of the above is/are true?
a)1,2&3only |[b) 1,3& 4|c) 1 and 2|d)1,2,3and | 1,2,3and 4
only only 4
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70 | With reference to the Free movement agreement (FMR)
between India and Myanmar, consider the following:
1) Insurgency Activities
2) Impact on cultural identity
3) China’s growing influence in Myanmar (d)
4) Environmental Degradation
How many of the above are probable reasons for Government
of India’s decision to scrap the free movement regime?
a) Only one b) Only one | c¢) Only one d) All four Al four
71 | Five Eyes is an anglosphere Intelligence Alliance comprising
with:
I. Australia, Canada, New Zealand, United Kingdom, France
II. Australia, Canada, New Zealand, United Kingdom, USA
II1. Australia, Canada, New Zealand, United Kingdom, Japan | (b)
IV. Australia, Canada, Japan, United Kingdom, South Korea
V. Vietnam, Japan, United Kingdom, Australia, France
Which one is the correct option?
a) Only I c) Only IV d) Only V Australia, Canada,
b) Only II New Zealand, United
Kingdom, USA
72 | Which of the following is NOT an agenda item currently
focused by the Conference on Disarmament (CD)?
1) Prevention of an arms race in outer space
2) Promotion of nuclear energy for civilian purposes (c)
3) Transparency in armaments
4) Cessation of the nuclear arms race and nuclear disarmament
a)A. 1&2 b)B.1,2&|c) 1,3&4 d) All of the
1,3&4
3 above
73 | Consider the following statements.
1. India's Higher Defence Organisation was established on 24
September 1947.
2. India's Higher Defence Organisation was established on
advised of committee headed by Lord Mountbatten.
3. The committee had recommended three-tier Higher | (a)
Defence Organization of India.
4. National Security Council of India was established after
Kargil war.
Choose the correct option:
a)l &3 c)1 &2.D d) All of the
b)2,3&4 above 1 &3
74 | Consider the following statements.
1. National Security Council of India (NSC) is headed by (b)

Defence Minister.
2.Mr. Brajesh Mishra was the first National Security Advisor.

11




3.NSC of India is tasked with advising the Prime Minister's
Office on matters of national security and strategic interest.
4 NSC is the apex body of the 4-tiered structure of the
national security management system in India

choose the correct option:

a)l &2 ) 1&4 d)3 &4

b)2 &3

2&3

75

India is a member of which of the following organisations/
agencies.

1. Nuclear Suppliers Group

2. Wassenaar Arrangement

3. Missile Technology Control Regime

4. Australia Group

Choose the correct option:

(d)

a)l &2 OL,2&3 [d)2,3&4

b) 1,2 &3

2,3&4

76

Blitzkrieg Strategy was associated to:
Germany

Japan

United Kingdom

United States

Italy

arwONE

a) Only 1 O12&3  |d)1.2,3&2

b)2 &3

Only 1

77

Lt. Gen.T.B. Henderson Brooks and Brig. Premindra Singh
Bhagat Report was associated with:

1.Sino-Indian War-1962

2.Ino-Pak War-1965

3.Indo-Pak war 1971

4.Galwan Valley Clashes with China-2020

Choose the correct option:

(2)

a) Only | [b)land2 [c)Only3 | d) Only 3

Only 1

78

49" Parallel line lies between:
1.South Korea-North Korea
2.Japan-Vietnam
3.USA-Canada
4.Germany-Poland

5 U.K-France

(2)

a) Only 3 c) Only 1 d) Only 2&5

b) Only 2&3

Only 3

79

With reference to the World Bank Group, consider the
following:

l.International Bank for Reconstruction and Development
(IBRD)

2.International Development Association (IDA).

3.The International Finance Corporation (IFC).

(2)

12




4. The International Centre for the Settlement of Investment
Disputes(ICSID).

Which of the above organisation/organisations does not have
India as a member?

a) 4 only c) 1,2 and 3 |d) 2,3 and 4
b) 3 only only only 4 only

80 | John Galtung presentation of Gandhi’s views on non-violence

and struggle against imperialism are:

1.Never fear dialogue d)

2.Never fear conflict: More opportunity than danger

3.Know history or you are doomed to repeat it

4. While fighting occupations clean up your own house.

a) Only 1&2 b) Only 2 |c)Onlyl,2&3 | d) All of the

&3 above All of the above

81 | What are challenges to nation-states?

1. Immigration

2. Global capitalism and neoliberalism d)

3. Global civil society

4. Religious extremism

Choose the correct option

2) 1&2 by12&4 |912& | dAllofthe |y e above

above

82 | Consider the following pairs:

A. Barak 8 — Surface-to-surface missile

B. Trishul — Surface-to-air missiles

C. Nag — Subsonic cruise missile (b)

D. Nirbhay — Supersonic cruise missile

How many of the above pairs are matched correctly?

a) Only A b) Only B c¢) Only C d) All of the Only B

above

83 | Choose the correct option:

1.Security A New Framework for Analysis-Barry Buzan, Ole

Waver, Jaap de Wilde

2.India’s Quest for Security-V Longer (a)

3.Modern Strategic Thought Machiavelli to Nuclear Age-

Chris Hail

4.Blue Navy-Ad. A.T. Mahan

a) Only 1 b) Only 2 ¢) Only 2&4 (‘24 Only 3 Only 1
84 | Given below are two statements, one labelled as Assertion (A)

and the other as Justification (B)

A: Assertion: Militarism of Indian Ocean area is becoming
major threat to global peace and security.

B: Justification: Indian Ocean is a gateway for other Oceans
and the economic interest of nations are at stake.

In the context of above two statements Assertion (A) and
Justification (B), which one of the following codes is correct?

(b)

13




a) (A)iscorrect | b) Both (A) | ¢)
but (B) is|and (B) are | wrongbut(B) | and (B) are

wrong. correct is correct. wrong

(A) is | d) Both (A)

Both (A) and (B) are
correct

85

Given below are two statements, one labelled as Assertion (A)
and the other as Justification (B)

A: Assertion: Smart bombs are a generic term for latest high-
tech bombs.

B: Justification: They are so called since they fit in almost in
any weapon.

(b)

a) Both (A) and
(B) are false

b) (A) is true
but (B) is
false.

c) (A) is false
but (B) is true

d) Both (A)
and (B) are
true, but (B)
is not
correct

explanation

(A) is true but (B) is
false

86

Given below are two statements, one labelled as Assertion (A)
and the other as Justification (B)

A: Assertion: During 1971 Indo-Pak War, USA seemed
favorable towards Pakistan.

B: Justification: During this period India had a strong defence
cooperation with U.S.S.R.

(a)

a) Both (A) and | b) A) is true
(B) are true, but | but (B) is
(B) is the | false.

explanation of

(A)

c) A) is false
but (B) is true

d) Both (A)
and (B) are
correct, but
(B) is not
the adequate
explanation
of (A).

Both (A) and (B) are
true, but (B) is the
explanation of (A)

87

Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: International boundary is not a line, but it is a
vertical plain that cut across atmosphere, soil and sub-soil.

B: Justification: International boundary is a vertical plain,
appears as a line on the surface of the earth.

(d)

a) A) is wrong | b) Both (A) |¢c) (A) is
but (B) is|and (B) are | correct but | and (B) are
correct wrong (B) is wrong | correct

d) Both (A)

Both (A) and (B) are
correct

88

Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: India buys about seventy percentages of its
defence equipment from Russia, USA, France, UK and Israel.
Justification (B): These countries offer most favourable terms
of trade.

(b)

a) A) is false
but (B) is true

b) A) is true | ¢) Both (A)
but (B) is|and (B) are | and (B) are

false false true

d) Both (A)

A) is true but (B) is
false

89

A: Assertion: The National Security perception is the product
if interaction of security awareness, threat perception, policy
orientation and implementational abilities.

Justification (B): The common people in India, by and large,
lack security awareness and think that it is the responsibilities

(©)

14




of the government to look after the process of national
security.

a) (A) and (B) | b) A) is true [ c) Both (A) | d)A)isfalse | Both (A) and (B) are
aretrueand (B) | but (B) is |and (B) are | but (B) is true and (B) is the
is not the | false true and (B) is | true correct explanation of
correct the  correct (A)
explanation of explanation
(A) of (A)

90 | Choose the correct appropriate code of Assertion (A) and (a)

Justification (B) as given below:

A: Assertion: The Association of South East Asian Nation
(ASEAN) was established in 1967. Since then all ASEAN
countries are free from war-threat from each other.

(B) Justification: This act could be happened through trade,
movement of capital and labour amongst them.

a) (A) is right |[b) A) is|c) (A) is
and (B) is the | wrong but | correct  but
impact of (A) | (B) is | (B) is wrong.
correct

d) (A) and
(R) are both
correct but
(B) has no
connection
with (A)

(A) is right and (B) is
the impact of (A)
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Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: Terrorism is not a purposeless violence. It is not
like nature act of earthquake or tsunami before which we are
helpless.

(B) Justification: Terrorism and those who support them have
specific goals. Terrorist violence is the means to attain those
goals.

©)

a) Both (A) and
(B) are not
correct.

b) Both (A) |c) (A) is
and (B) are | correct (B) is
correct the  logical

explanation explanation
of (A) of (A)

d) (A) is not
correct, (B)
1s not logical

(A) 1s correct (B) is
the logical explanation
of (A)
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Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: India did not consider proper to sign the Nuclear
Non-Proliferation Treaty in the changing global scenario.

(B) Justification: Nuclear Non-Proliferation Treaty was
discriminatory and devoid of Indian Security considerations.

(a)

a) Both (A)and | b) A) is true | c) A) is false | d) Both (A)
(B) are true but (B) is | but(B)istrue | and (B) are
false false

Both (A) and (B) are
true
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Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: The United Nations has remained ineffective
during the cold war period.

(B) Justification: Exercise of VETO was mainly responsible
for it.

(d)

a)Both(A)and | b) (A) is|c) Both (A)|d)(A)istrue
(B) are false false but (B) | and (B) are | but (B) is
is true true false

(A) is true but (B) is
false
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Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: Global warming and rise of sea level are
identified as major risk for the ecological security of the
world.

B) Justification: Indiscriminate industrialization, emission of
greenhouse gases, deforestation and acid rains are some of
major sources.

(d)

a) Both (A)and | b) (A)istrue | c) (A) is false | d) Both (A)
(B) are false but (B) is | but(B)istrue | and (B) are
false true

Both (A) and (B) are

true
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Choose the correct appropriate code of Assertion (A) and
Justification (B) as given below:

A: Assertion: In the area of conflict resolution, private
individuals increasingly play a role in track-two diplomacy.
B) Justification: Track-two diplomacy has met with some
success in resolving the. Problem of India and Pakistan

(©)

a) (A) is true | b) Both (A) | ¢c) Both (A) | d) Both (A) | Both (A)and (B) are
but (B) is false | and (B) are | and (B) are | and (B) are true
true but (B) | true false
is not
correct
explanation
of (A)
96 | Choose the correct appropriate code of Assertion (A) and ()

Justification (B) as given below:

A: Assertion: The Strategic Arms Limitation Talks (SALT) in
1972 and 1979 put ceilings on the growth of strategic
weapons.

B) Justification: Due to the Soviet invasion of Afghanistan the
second SALT Treaty was never ratified by United States.

a) (A) b) Both (A) | c) Both (A)|d) (A) 1s| Both(A)and (B)are
is true but (B) | and (B) are | and (B) are | false but (B) true
is not | false true 1s true
explanation of
(A)
97 | Choose the correct appropriate code of Assertion (A) and (b)

Justification (B) as given below:

A: Assertion: Globalization implicated on the state
sovereignty principle.

B) Justification: Globalization interferes with state exercise of
power in economics, political and culture.

a) (A) is true | b) Both (A) [c) Both (A)|d) (A) is| Both(A)and(B)are
but (B) is false | and (B) are | and (B) are | false but (B) true
true true but (B) is | is true
not  correct
explanation
of (A)
98 | Match the following
A PS Thapar 1. 1965 war (a)
B JN Chaudhri 2. 1962 war
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C KM Carippa 3.
war

Bangladesh Liberation

D SHFJ Manekshaw 4. Indo-Pak  war on
Kashmir
a)A-2,B-1,C- | b)A-1,B-2, | c)A-4,B-3, | d)A-2,B-4,
4,D-3 C-4,D-3 C-1,D-2 C-4,D-1 A-2, B-1, C-4.D-3
99 | Match the following
A Chemical Weapons | 1. 1995
Convention
B ASEAN Nuclear Weapons | 2. 1997
Free Zone Treaty (d)
C Anti Personnel Land Mine | 3. 1990
Ban Treaty
D Treaty Conventional Armed | 4. 1993
Forces in Europe
a)A-2,B-3,C- | b)A-3,B- c) A-1, B- d) A-4, B-
2,D-4 1,C-4,D-3 4,C-2,D-3 1,C-2,D-3 A-4,B-1,C-2,D-3
10 | Match the following
0 A Officer Training Academy | 1. New Delhi
(OTA)
B Indian Military Academy | 2. Goa (a)
(IMA)
C Centre for Land Warfare 3. Dehradun
D Naval War College 4. Chennai
a)A-4B-3,C- | b)A-2,B-3, | ¢)A-4,B-1, | d)A-4,B-3,
1,D-2 C-4,D-1 C-2,D-3 C-2,D-1 A-4.B-3, C-1.D-2
10 | Match the following name with their war machine:
1 A MKII 1. Combat helicopter
B Prachnad 2. Missile (©)
C Trishul 3. Drone
D Vijayanta 4. Air Craft Carrier
a) A-4,B-2,C- b)A-2,B- | c)A-3,B-1,C- | d)A-1,B-
1,D-3 1,C-3,D-4 2,D-4 4,C-2,D-3 A-3,B-1,C-2.D-4
10 | Match the following:
2 A MI6 1. Israel
B CIA 2. USA (a)
C Mossad 3. India
D RAW 4. UK
a) A-4,B-2,C- b)A-3,B- |c¢)A-3,B-1,C- | d)A-1,B-
1,D-3 4,C-1,D-2 2,D-4 4,C-2,D-3 A-4,B-2,C-1.D-3
10 | Match the military leaders with battles in Indian Military
3 | History:
A Sudas 1. Haldighati
B Poras 2. Battle of
Hydaspes @)
C Prithvi Raj Chauhan 3. Ten Kings War
D Rana Pratap 4, Battle of Tarain-
11
a) A-3,B-2,C- b)A-1,B- |c)A-3,B-4,C- | d)A-1,B-
4,D-1 4,C-2,D-3 2,D-1 2,C-3,D-4 A-3,B-2,C-4.D-1
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10 | Match the following with their headquarters:
4 A NATO 1. Kathmandu
B INTERPOL 2. Brussels (a)
C ASEAN 3. Lyon
D SAARC 4. Jakarta
a) A-2,B-3,C- b)A-3,B- |c)A-2,B-1,C- | d)A-1,B-
4,D-1 2,C-1,D-4 3,D-4 2,C-4,D-3 A-2,8-3,C4.D-1
10 | Match the following with their war cry:
5 A Assam Regiment 1. Bolo Bharat
Mata Ki Jai
B. Mechanized  Infantry | 2. Rhino Charge
Regiment (b)
C. Maratha Light Infantry | 3. Jai Durga Naga
Regiment
D. Naga Regiment 4, Bo Shri
Chattrapati Shivaji
Maharaj Ki Jai
a)A-2, B-3, C- | b) A-2, B-1, | ¢) A-3, B-1,|d) A-2, B-3,
4, D-4 C-4, D-3 C-4,D-4 C-4, D-1 A2,B-1,€4,D3
10 | Match the following the war memorial with particular place:
6 A Jaswant Singh war memorial | 1. Kargil
B Gorkha war memorial 2. Ladakh (a)
C Drass war memorial 3. Darjeeling
D Rezang La War Memorial 4. Nuranang
a) A-4,B-3,C- b)A-3,B- |c)A-2,B-3,C-| d)AlB-
1,D-2 4,C-1,D-2 4,D-1 2,C-4,D-3 A-4,B-3,C-1,D-2
10 | Match the following:
7 A Collective Security | 1. Unacceptable level of
destruction
B Arms Control 2. An equilibrium between (@)
two powers
C Balance of Power 3. Fewer weapons means
greater security
D Deterrence 4, One for all, all for one
a)A-4,B-3,C- | b)A-1,B-3, | ¢)A-1,B-2, | d)A-4, B-2,
2,D-1 C-4,D-2 C-3,D-1 C-3,D-1 A4,B-3,C-2D-1
10 | Match the following battle with the corresponding years in
8 | which they were fought:
A Thirty Years Wars 1. 1761
B Third Battle of Panipat 2. 1757 @)
C Battle of Plassey 3. 1943
D Battle of Stalingrad 4. 1618-48
a)A-4,B-1,C- | b)A-1, B- c) A-4, B- d) A-3, B-
2,D-3 2,C-4,D-3 1,C-3,D-2 | 2,C-1,D-3 A4, B-1.2.D3
10 | Match the following:
9 A Trishul Missile 1. Anti-tank guided
missile
B NAG Miissile 2. Surface to Surface (b)
missile
C Prithvi 3. ICBM
D Agni-5 4. Surface to Air missile
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a) A-2,B-4,C- b) A-4,B- |c)A-2,B-1,C- | d)A-4,B-
3,D-1 1,C-2,D-3 4,D-3 3,C-1,D-2 A-4,B-1,C-2,D-3
11 | Match the following agreements with their year of signing:
0 A Panchsheel Agreement 1. 1966
B Tashkent Agreement 2. 1972
C Shimla Agreement 3. 1971 ©)
D Treaty of Peace Friendship | 4. 1954
and Cooperation
a)A-4,B-3,C- | b)A-1,B- c) A-4,B- d) A-1,B-
1,D-2 3,C-2,D4 | 1,C-2D-3 | 4,C-3D-2 A4B-162.D3
11 | What are the main objectives researches in cyber security? d)
1
a) Security b) Digital | c)Secrecy d) All of All of these
awareness security maintenance these
11 | The main objective of research in Peace and Conflict is: @)
2
a) To | b) To give | c)Spread d)None of
understand the | proper awareness in | these To understand the
origin of | report  on | this realm origin of conflict
conflict Peace and
Conflict
11 | How does the Centre for Air Power Studies help in field of Air d)
3 | craft Research Program’?
a) It gives |b) It helps | ¢)lt gives | d) All of
different how to | better these
combat maintain air | strategies for All of these
techniques sovereignty | future
generation air
crafts
11 | The best practice of judge the depth of research Security
4 | Studies: (a)
2) .By‘ research | b) By o) By. total | d) By By research objectives
objectives research expenditure | research
duration on research title
11 | Identify the odd one:
5 (a)
a) IAI Heron b) Agni c) Prithvi d) Trishul
IAT Heron
11 | The time-period of Gun Powder was: (b)
6
a) 1246-1346 | b) 1346- | ¢) 1446-1789 | d) 1529-
1789 1819 1346-1789
11 | Which was the smallest unit in epic age (Mahabharat time)? ©)
7
a)Senamukh b)Gulm c)Patti d)Vahini Patti
11 | “Ten Kings War’ described in:
2 (a)
a) Rigveda b) c¢) Rigveda d)
Samaveda Yajurveda Rigveda
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11 | Where was the teaching of ‘Geeta’ given during the Battle of d)
9 | Mahabharat?
a) Panipat b)Kurukshet | c)Bhiwani d) Jyotisar
ra Jyotisar
12 | When did the Second World War start? (b)
0
)24 July, b) 1° c) 2 d) 24
1945 September,1 | September,19 | October,194 | 1% September,1945
945 45 5
12 | Who was the second Field Marshal of the Indian Army? ©)
1
a) General b) SHFJ | c¢) General | d) None of | General
Rajendra Singh | Manekshaw | Kodandera | these KodanderaMadappaC
Madappa ariappa
Cariappa
12 | Who was the First Field Marshal of the Indian Air Force? d)
2
a) Chief b) Chief |c) Air Chief | d)Chief
Marshal Marshal | Marshal Marshal | Chief Marshal Arjan
Birendra Singh | V.R.Chaudh | Rakesh Arjan Singh | Singh Aulakh
Dhanoa ari Kumar Aulakh
12 | The credit of development of diagonal motion in the
3 | offensive strategy goes to: @)
a) Gustavus b) c) Adolf | d) Napoleon
Adolphus Alexzander | Hitler Gustavus Adolphus
The Great
12 | Which of the following is not related to R.M.A. (Revolution d)
4 | in Military Affairs)
a)Artiller b) Naval c) Trench | d)Nuclear .
Revolutio};l Revolution Warfare Revolution Nuclear Revolution
12 | Who had propounded the principle of the influence of Naval
5 | Power first of all? (©)
a) J.F.C.Fuller | b)Harfold | c)A.T. Mahan | d) George
Mackinder Swanzen AT. Mahan
burger
12 | The Statement.” For a developing nation, security is
6 | development, without development there can be no security’, | (a)
is attributed to:
a) Robert | b) Hennery | ¢) John Foster | d)None of | Robert McNamara
McNamara Kissinger Dulles these
12 | Out of the following four thinkers, one occupies pivotal
7 | position in his contribution to the concept of ‘Perpetual | (b)
Peace’.
a) Eisenhower | b) C) M. | d)Adam
Immanuel Gorbachev Smith Immanuel Kant
Kant
12 | Restricting research manufacture and deployment of deadly )
8 | weapons of mass destruction called.
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a). b) Arms C) Embargo d) Arms Arms conirol
Disarmament | race control
12 | The term of ‘Good Coherence’ was introduced by. (a)
9
a) World Bank | b) UNO c) SAARC d) ASEAN World Bank
13 | The logic of deterrence is based one of the following factors.
0
a) Balance of | b) NAM c) Cgllectlve d)None of Balance of Power
Power Security these
13 | The Treaty of ‘Friendship and Cooperation of -1971° was
1 | signed on. (c)
a) 6 January, | b)12" June, | c) 9" August, | d) 6
1970 1970 1971 January,197 | 9" August, 1971
2
13 | Détente relates to:
) (a)
a) Relaxation | b) c)  Cultural | b) Defence
of tension | Diplomatic | relations cooperation . .
. Relaxation of tension
between two | relations between two | between b .
. . etween two countries
countries between two | countries two
countries countries
13 | Which among the following pacts outlawed war is an d)
3 | instrument of national policy?
a) Dayton | b) Lahore | c)Panchsheel | d)Kellogg- .
Accord Accord Agreement Briand Pact Kellogg-Briand Pact
13 | Clausewitz is associated with which of the following
4 | statements? (c)
a) ‘ War is | b) War | ¢) War is the | d)War War S the
periodically stems from | continuation. | should steer . . .
. . . o continuation. of policy
desirable economic of policy by | politics
. by other means
necessity other means
13 | Pinpoint the year in which Strategic Arms Reduction Talks-I
5 | started. (b)
a)1970-72 b)1991-92 | ¢)1993-94 d)None of 1991-92
these
13 | The term ‘Cold War’ was first used by: (@)
6
a) Bernard | b)  Walter | c)Adam d) Harfold
Baruch Lippman Smith Mackinder Bernard Baruch
13 | Which day is celebrated as the International Day of the UN (b)
7 | Peace-Keepers?
a) December | b) May 29" | ¢) July,13® d) gth
10t October May 29
13 | Which one of the following is NOT an arms control
8 | agreement? (c)
a) NPT | b)SALT | c)NAM | d) PTBT NAM
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“The Kyoto Protocol’ is related to.

13
9 (a)
a) Climate b) Refugees ¢) Narco- d)Reverse- .
Change Issues Terrorism | Engineering Climate Change
14 | Who propounded the idea of ‘Push to the utmost’ in a war? (d)
0
a) Jomini b) Harfold | ¢)A.T. Mahan | d)Clausewit
z Clausewitz
14 | Which one of the following is the primary objective of
1 | insurgency? (d)
a) To help b) To ¢) To revolt d)To
foreign estabhslzme against one’s | establishme To establishment
government nt one’s own nt separate separate sovernment
own government | government P &
government
14 | Kautilya’s Arthshastra was found in 1905 by one of the ()
2 | following scholars.
a) Sama Sastry | b) Narendra | c) Vipin | d) Lallanji
Singh Chandra Singh Sama Sastry
14 | Which one of the following are not the major constituents of ©)
3 | Indian Ocean?
a)  Andaman | b)Timor Sea | c)Red Sea d)Arabian Red Sea
Sea Sea
14 | Who said ‘Strength 1s power, and happiness is the end’? ()
4
a) Kautilya b) Sun Tzu | ¢) M. Gandhi d%}\lgillr;u Kautilya
14 | UN General Assembly adopted a resolution declaring the
5 | Indian Ocean a ‘Zone of Peace’ in the year (b)
a) 1970 b)1972 c) 1975 d) 1984 1972
14 | Economic warfare implies.
6 (a)
a) Weakening | b) Attack on | c) Blockade | d)None of | Weakening the enemy
the enemy by | enemy these by economic means
economic resources
means
14 | The concept of collective security implies. ©)
7
a) Machinery b) c) Principle | d)
for joint action | Arrangemen | of One for, | Combined Princile of One for
tamong | All for one action ¢ zﬁlef(())r onee b
nation state against on
adversary
14 | Who amongst the following established the concept of ()
8 | structural violence?
a) Johan b) Ann ¢) A.G. Frank | d)
Galtung Tickner R.Murdoch Johan Galtung
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14 | How many elements of sea power have been described by
9 | A.T. Mahan? (b)
a) Five b) Six c)Seven d)Eight Six
15 | Operation HAND-IN-HAND military exercise is related to: ()
0

a) India-China

b) India-
Bangladesh

¢) India-
Myanmar

d) India-

Vietnam

India-China
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